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i)
z=-1-1;
Arglz]
37t
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i)
n- Il ntegrate[X Exp[-2 x], X]
Integrate[x Exp[-2x], {X, 0, 1}]
N[l ntegrate[x Exp[-2x], {X, 0, 1}1]
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i)
- A= {{1, 2, -1}, {2, 0, 3}, {-1, 3, 2}};
Mat ri xFor m[A]
B = Transpose[A];
Mat ri xFor m[B]
A-B// MatrixForm
Det [A. B]

Out[2]//MatrixForm=

1 2 -1
2 0 3
-1 3 2
Out[4]//MatrixForm=
1 2 -1
2 0 3
-1 3 2
Out[5]//MatrixForm=
00O
00O
00O
out[6]= 841
i)
Integrate[l/ (X (X*2+5)), X]
Log [X] 1

= —ELog[5+x2]
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- FIX_ ] =X/ (X2 +1)

Print ["1st Derivative : ", Sinplify[D[f [x], x]11]
Print["Critical Points : ", Solve[D[f [x], X] =0, x]]
Print ["2nd Derivative : ", Sinplify[D[D[f [x], X], X111
Print ["Inflection Points : ", Sol ve[D[D[f [x], X], X] =01]]

Pl ot [f [x], {X, -3, 3}, AxesOrigin- {0, 0}, PlotRange -» Al |,
BaseStyle » {FontFam |y - "Arial", FontSize » 12},
AxesLabel -» {"x", "f (xX)"},

Pl ot Styl e - {Red, Thi ckness[0.005]}]

1-x2

(1+xﬂ2
Critical Points : {{x-> -1}, {x->1}}
2x (-3 +x?)

1st Derivative :

2nd Derivative :

(1+x2)°

Inflection Points : {{x -0}, {x»—\/?}, {x»x/?}}
f(x)

0.4

Out[22]=




